Aufgaben zum Faktorisieren (Ausklammern)

Nr. |Chili- |Term Ausklammern 1 Ausklammern 2
Schote
1.1 3x0+12x%+6x x x(3x%+12x46) | 3 3(xP+4axi+2)
25x*—5x°+10x X 5 5(5x4—x3+2x)
(253 -5x2+10)
2. |1 12x°—6x>+18x 3x  3x(4x®-2x+6) | 6x  6x(2x7-x+3)
8xO+12xY—4x 2x 4x
2x(4x*+6x3-2) ax(2x4+353-1)
3. 1 12ex*=367 x> +241x | 3% 4t
3x(4e3—122x%481) | 4¢(3x%—91x5+6x)
122 =367 x+241x | 3t Ox
3t(4r3—12ex+8x) | 6x(22x2—612+31)
4. 1 a’ b —ab*+a’b a a(ab3—b2+alb) b(azbz—ab+a3)
@’ b+ a’b—ab’ a a(a2b2+ab—b3) b b(a3b+a2—ab2)
5. |2 6a'x’—12a° x° 3x° 6a’ 6a2(a2x2—2x3)
3x2(2a4—4a2x)
8a’x*+16a’x’ 8 x° 8x2(a2x2+ 2a3) 4a°
4a2(2x4+4ax2)
6. 2 745 1 33 1 3 1 3
— ' ——t —~t —
6 12 3 2"
1 5(7, s 3 1 3(7 4.2 13
3t(2tx 4x) 2x (3tx 61)
4 6_3 6 45 1 3 2 2
— X ——t —t =
357 700 " 7 57
l 3(45 35 6 s 2 2|26 3 4.3
=P x——t = t t
7(5x 1ox) sx(7x14 x)
7. |2 a_a ; as(i_i) 1 1(a5 6)
7 5 a 7 5 5 5|2 a
X X X X X X \ X
a_4_i6 4 4 1 Clz 1 1 a4 6
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8. |2 4 8¢ N 4
6p’ 18p 3 3\2p 6 P’
41 £ 27
T4 3+ 3
p\6p 18p
3t° 91 £ £3f 9 3 3 £ 3¢
i 5 5 A it 2 2 PRIEY
8p 2p 2 2\4p p P p\4p" p
9. 3 ex—i—3_4e2x+4 e2 ex ex(63_4ex+4)
2( x+1 2x+2)
e’le —4e
eSx+6+e2(x+1) ez 62(65x+4+62x) er 2x(63x+6+e2)
10. |3 —6a° b +18a° b’ —3a*b —6ab?
(<3a*b)2a " b—6ab?)| (—6ab*) a2 234 b
8a°p*—124%p° —2a°p* 4a°b*
(—2a3b4)(—4a3+6ab_] (—4asbz)(—2abz+3a_1
1.3 45° =57 +x7 2x? Sx
4 4 2
2x2(2x3—§x+% 5x(§x -X +§x
3x6+2x4—x3 E»x3 2x2
353 x3+2x—l 2 x2 §x4+x2——x
3 3 2 2
12. 3 b’ —a’p* a ap2=dpY) | B AdP-d’h?)
B +d a? A b et hRrdd)
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